
                     

Numbers Bonds to 100 and 1000. 

 
Can you work out what the missing numbers are? 

 
1. 357 + ? = 1000   2. 489 + ? = 1000   3. 648 + ? = 1000 

 

Now try these with decimal numbers… 

 
4. 0.6 + ? = 1   5. 0.3 + ? = 1  6. 0.5 + ? = 1     7. 0.9 + ? = 1  

         

8.  0.2 + ? = 1          9. 0.7 + ? = 1         10. 0.7 + ? = 1          11. 0.4 + ? = 1  

 
12. 4.6 + ? = 10               13. 5.2 + ? = 10            12. 6.4 + ? = 10       13. 8.9 + ? = 10 

 

12. 9.2 + ? = 10               13. 2.3 + ? = 10            12. 7.5 + ? = 10       13. 6.7 + ? = 10 

 

 


